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In the tigure below, ol 3lgll Sl 2
which disorder can be identified in the Karyotype? £ S50l laaill oyghil IS éi

O Down syndrome male 553 U2 Aahe
O Klinefelter's syndrome laS a0,
O Turner's syndrome i Aa)a
O Down syndrome female J_' Sela da)aa

D https://t.me/+CbbW8n6Up6U50GES
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T
The lac operon is an example of the gene expression of

inducible enzymes. In the figure below, which letter of the

following indicates repressor active?

Lac operon (off) -Jasi- Lac Jiss

-

Pros wee @ =p I

\/‘ (C)

Adolactone ndecer)

|

vouv
N ey Sl LY

o~ 3%
P Enzymes for lactose Ggesbon

Lac operon (on) -Jass s Lac Jais

(A) (B) Sl Y k! Ganes e pazymes for
\ > i W pna lacione dgeshon

ONA v F 2
BNA
bl s

ROA poby e e
5
mRNA 5 —

4 ol
Bhaall Sl el jueall YUa w5 Lac Jada
Shii aile ) el L Laa dija (g olial Joan A

The tapressce
prevents
[y Tl

O O O

@)

https://t.me/+CbbW8n6Up6U50GES
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In the illustration below, which molecules are

represented by the boxes (A) and (B)?

[ Hereditary information ]

Is stored in

(s

A-2023-2022 JsUl Juodll dlg yLis] - 23y ebioll - padiall jluall - e ol ciall =

https://t.me/+CbbW8n6Up6U50GES

Glagpall lghiay A Sliazall b olisl andagall Joii A
*(B)s (A)

O O O

(A) proteins and (B) Chromosomes

(A) Genes and (B) RNA

(A) Genes and (B) proteins

(A) RNA and (B) Chromosomes

a O

https://t.me/+CbbW8n6Up6U50GES

Slagsas S (B) 5 =lissn (A) 4

RNA (8) 3 Slualdl (A) D

=iy (B) 5 =lus (A)

;J.\A,-A,A,ﬁ (B) 3 RNA (A) d



11930 | [ ° 25-4 o cH®BE A-2023-2022 JoUl Juadll dlgi jlis! - 2y eboll - padiall jluall - e 3Ll cinall =

e https://t.me/+CbbW8n6Up6U50GES

The pedigree below illustrates the inheritance of a dominant Ol e aila A A3 5 oLl el Ja T2y

disorder across two generations. 13) dbjras Slé s Laag Luaa (3)11 Jakal ()5 (1)1 cupd cua

The parents (1) and |(2) had the child li(3) and they wanted 3 g Ot Gas wilas Sl 13 058 of ofad) g oS

to know if this child could be affected by Huntington's 5 - :
(3 OOY Alaaal) Aiaal) okl a6 caadl Ja I aliaad

disease or not. Based on the pedigree, predict the possible

genotype(s) of the child Il (3).
l ._ : Unaffected

I l ‘ ? Affected ’ .

O Hh or hh hh 4 Hh
O HH only La HH b
O Hh only La Hh <

m O hh only s hh 4

https://t.me/+CbbW8n6Up6U50GES
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Which of the following represents the structures

Aaagal (3) (1) cuSU Jiay b Laa 1
(1) and (3) shown in the below figure? folial JS&i A

JNA Double Helix . ie
DNA Dou Byl ll Nucleolide

(1)

(3)

. g - S S
Sugar-phosphate backbone

Key

Adenine(A)

Thymine(T)

Cytosine(C) pam

I Guanine(G)

O O O O

https://t.me/+CbbW8n6Up6U50GES

(1) hydrogen bonds and (3) Purine base

(1) hydrogen bonds and (3) Pyrimidine base

(1) peptide bonds and (3) Purine base

(1) covalent bonds and (3) Pyrimidine base

ddyen 5228 (3) 5 dding i Ly (1) 2

Linasyy s2eli (3) 5 iiag o Ly (1)

Liyey s2ell (3) 5 Lasy dadly) (1)

Lty 5208 (3) s Laalia by, (1)
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Which of the following describes the figure shown below? ealial asdl (S Gy A Laa @1

Polyprptide =28 oa

O Transcriplion sl
O Translation dap all
O RMA processing Sisubll gagdll asall Aolla.
O Replicalion of DNA DNA D &=Js <

https://t.me/+CbbW8n6Up6U50GES
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o *+++ BONUS *+***

[What is the effect of sickle-cell anemia? ﬂ Taglaiall LMAD Laagl o8B L
O Blocked respiralory pathways Loanll Sl o
O Decreased neurological functions dypeanl) ciillagll anlp B
O Susceplibility lo contracting malaria dialill LSl doleaBll ds sl
O Inefficient oxygen transportation M":u A e Jall

o
. https://t.me/+CbbW8n6Up6U50GES
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| —
If the father's blood type is I* i and the mother's is I°i, what 1% a0 as Aliady 1M QY1 a8 Aliad cailS 1)
is the probability of having a child with type AB blood? SAB a3 dluad g3 Jab lad) Jlaal Lad
3
O :
@) L
1
oY ‘¢
O 2
1
O 3

m https://t.me/+CbbW8n6Up6U50GES
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Which of the following abnormal male gametes will form 53 0SS A0 Aaulall 8 453 glaal) Ca éi
nearly normal male when fertilized with normal egg? Thangds ddaigdl Lgulad) Sie aulus 4pl
O 21 somatic chromosome and sex chromosomes XY XY Ouia Suagesay Sg 53up agugag S 21 2
O 22 somatic chromosome and sex chromosomes YY YY Sudia Cpagusay Sy Siun agmsag S 22
O 23 somatic chromosome and sex chromosome Y Y i pgaigag Sy Siun ageasag S 23
O 22 somatic chromosome and sex chromosomes XX XX Spidin Siagessag Sy $3mn pyusses S22 d

m https://t.me/+CbbW8n6Up6U50GES
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The figure below she /s animals with differer  genetics, study (Aaliia Al ¢ e @l Gililgas Cuw oLl JSE
them and then answer the question: sl (e caal a3 s g

Which of the following patterns describes the inheritance of 2 AN Ol Al chuan AUGN A5 el Bl e (s
coat color in (A) and (B)? f(B) s (A) o Js

(A) (C)
e B U 2990 Y SIS B gLl O ot SSASD a3 508 o9
Coat color of Coat color in coat colors of

rabbits Labrador retrievers the calico cat

(A) Dosage Compensation and (B) Multiple Alleles saaazadl U (B) 5 lasusas Sl Lhaas (A)

(A) Multiple Alleles and (B) Epistasis Sl 3si (B) 4 52l i (A)

A) Polygenic Traits and (B) Dosage Compensation le | L (B) 5 cliaad) ssaess Slaall (A)
( seigag SI O 5

(A) Epistasis and (B) Multiple Alleles ol SO (B) 5 Sligd) Ge (A) d

https://t.me/+CbbW8n6Up6U50GES
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— -
IUse the figure below to determine the amino acid caaal) dhulys sadall L) Gaalall Ll saad) olial JSAN aadid
sequence coded by the following mRNA: tll J gl (S5 gl (S50
5' AUGUGGUUAUGU 3' 5' AUGUGGUUAUGU 3’
Saa it A Saa B B 1
o = poren
e | S22 oy e
puuc uce UAC UGC
¥ s S p— -, [P
e e s ] A
uuG ucG v UGG
et - p— D
Auu ACU J AGU
e 3/5 ! A ‘At g
el =R Zl
A AuA ACA AAA K»A‘ A
e nd 9 ! -~ B e
AUG (ean) ACG ANG AGG
e e o e
-
O Methionine, isoleucine, serine, tryptophan SRR 3 i Otemigl ) Saiglindl 2
O Methionine, isoleucine, lysine, arginine Osinagl s | gl (Gsigtudl b
O Methionine, tryptophan, leucine, cysteine Ohiiss | Snaagl , Sl g 35, O3l liaall
O Methionine, serine, tyrosine, lysine Oaad | G s g, tigtndd)

a https://t.me/+CbbW8n6Up6U50GES




11823 | [ ° 25-12 o cESB A-2023-2022 JoVl Juadll &lgi yLis! - 22y cboll - padiall jluall - pise all iuall =

@ https://t.me/+CbbW8n6Up6U50GES

Y ————— o
The DNA strands are separated during replication and each chelaall Alee U DNAD Judu Juadis
parent strand serves as a template for new strands, as Jadaall £ 3gais dglal Aludes JS Jass Sua
shown in the figure below. bl JEEN iy LaS Sasaall
Which of the following represents the DNA ligase enzyme? SDNA o sl (A sy by Laa ‘5i
3
7 :
$ / / ENA bk o7 Drrection of replication Parental DNA
AV s 7 P \ A gt ST
8 \
0’
w4 / 'l Y BN
) )T~
(D)
3" DN*  ymerase
m
O A
O B !
O D <
D o e
https://t.me/+CbbW8n6Up6U50GES8
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Which of the following genetic disorders cannot dde gl ¥ AN A0 80 CHNGAN) Ga (g
be represented by the inheritance pattern shown colial il Jas b gasall A1) Jaai
in the pedigree below?

i I ["]&

i 2 s 6 7 8

O Tay-Sachs's disease oSl 56 e
O Achondroplasia —isylaadl ga p2e
O Cystic fibrosis S bl
O Galaclosemia Lawgiall  d

https://t.me/+CbbW8n6Up6U50GES
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The figure below shows Gametes with abnormal
numbers of chromosomes that result from
nondisjunction during meiosit

Which of the following

indicates a zygote (2n+1)?

[ZE

(8)

el 3 S gun gag 0 Sl pe JSIN Sy
o ] Sl p L | ggliy Chalad) LY

g gag Al o dmnds
o g
S haan f(2n+1) a3y

\ Meolosis |

(D)

J")'l_“_.' H NS, YIJJL‘.I.SI‘“

Nondisjunction Meioais |

https://t.me/+CbbW8n6Up6U50GES

(A) and (B)

(A) and (C)

(C) and (D)

(B) and (D)

(8)s (A)

©)s(A) ¢

(D)s(C)

(0)s(8) <
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e ek BONUS Rk

tdaly) ik A Gasy 3 L

What occurs during frameshift mutation?

Part of the chromosome breaks away bul reattaches in ddas) sl 5S35 (agagag SIS el S
‘]
O inverse orientation of a base e Ay
O Nearly every amino acid in the protein will change Sl A Ly ddaal) Jalaal) jas i
Parl of the chromosome breaks away, but reattaches adasy dlas 805 cagaigag Sl e ojp HSE
normally danh §5)sean
An exira chromosome is added, causing mismatching of the e anw las .4_31.;! assag S ilia
q
O chromosome pairs Slagugag Sl =195 (3lhas

m https://t.me/+CbbW8n6Up6U50GES
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Which of the following is not a characteristic of a person

£ lealls cilaal) paddll Gailad o Y L L gl
with Albinism? dlgadl oaddll jallad G oV L Laa g

@ Enlarged liver AN ads
O Skin susceptible lo UV damage dapaidill (3q8 FC, | R I ey Db
O MNo color in the skin, eyes, and hair iy Cuiaally ol ..1- Salll alasd
O Vision problems Ll Ao, d

i1}
. https://t.me/+CbbW8n6Up6U50GES
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Which is the function of the enzyme DNA helicase : -
sude Lol S SiSis DNA J sl didiy La
during replication? -

O It is responsible for unwinding and unzipping the double helix DNA Al mgaall il iy Do

O Il bonds mRMA to original parent sirand 4_',_;}'1 _,__,l_ﬁ;"l Loyl mRNA Liy b
O Il winds up the replicated DNA sfrand whe Lnall DMA bops Jil &
O It matches the nucleolide pairs s plSeil 13l Gy ey

i1}
. https://t.me/+CbbW8n6Up6U50GES
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Which of the following demonstrates an insertion mutation of Judedll A b Ja2) gy A laa @i
the sequence 3' GGACCGCACCC 5'? $3'GGACCGCACCC '5

5 'GGGGACCGCACCC 3'

5 'GGACCCCACCCG 3" b

5' GGACCCCGGCA 3" <«

5' GGACCGCACCG 3' 4

O O O O

m https://t.me/+CbbW8n6Up6U50GES
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When a trait is found more often in both members of

o Wagag e Sl gad e dRUanal) ailgall B dda S5 2
identical twins than in fraternal twins, the trait is g U i e sl ¢ oo

.......................... diall o e Ja 1agd (AR allgall
) e A e e e e N A AR S AN
O be strongly influenced by environment Ll (g9 JSO ks
O have no genetic influence = bl aeyY b
O be not influenced by the environment at all Wlg gy plw y <
O have a significant inherited component. =als Ay OsSa

m https://t.me/+CbbW8n6Up6U50GES
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What is the mRENA sequence for the template DNA | aaadl Rl CdlEl | gl .;‘§'J.1.|L|II Gl paaadl Ll s L

strand sequence in the below figure? Talisl Je A s o giia (8 ) (55 5300
x ﬂ l | J[ L I
L L
TCA CCCATOC C

5' TCACCCATCGCC ¥

5" AGUGGGUAGCGG 3

5 TACAAACTAGCAA 3° ¢

5' UACAAACUAGUAA 3" d

O O O O

https://t.me/+CbbW8n6Up6U50GES
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r
Which of the following is true about eukaryotic gene e hall el aa s dasaa AU Sllall G ¢
regulation? $5)gill Aduda
Repressor proteins bind to aclivators, prevenling oaaadl J lghy) ades lea ciljiaddl J) adldl 55, 5 Loy
O them from binding to the DNA SV agiie Sismhll (seedl
Eukaryolic gene regulation is exactly like Slaill oy Saadl aulais Bl slgill ks Ol alais

prokaryotic gene regulation

Replication factors guide the binding of eukaryolic gsulll (sesill asadl 55l w3l Gn das )il Al Jalse 4ng

RNA polymerase o the promoter Jhadlly sl s
Activator proteins fold DNA to enhancer sites thal sastia $subll Seeil) Lasadl Aalidl Sling yll geks
increase the rate of gene lransmission Sl Jal Jane He uj Ally dlad! adlsd! Sy

a https://t.me/+CbbW8n6Up6U50GES
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Which of the following illustrates the genotype of a female (B) \gas Aiad ol ey ol Lkl S A e ‘51
with blood group (B) and have Red-green color blindness? TN ae s Alaay

xer lAlA 2

XBY: 1A

XY B

O O O O

XX IB®

m https://t.me/+CbbW8n6Up6U50GES
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The table below shows the cross of two (CYCY) eliaws jlajl (g3 Lansal Julll i il Eaba ol Jgandl sgld
snapdragens plants, one white flowered (C*C") and ACRC™) Ay il (53 LAY
the other pink flowered (C"C"). Sl 130 aasl g3 Joall ALl okl o6 el AN el Ga g

Which of the following ratios describes

the phenotypes of the offspring? c R

CFI {:H CW CR CW
R: Red sl
CW CW CW CW CW Wi "White =

O 50% red: 25wpink: 25%while Jiagd %25 5359 W25 1 jaal %50 @
O 50% pink : 50% white oasl %50 @ 535 %50
O 25% red: 50% pink: 25% white siand %25: 5339 %50 : jeal 25
O 50% red: 50%white sl %50 : sl %50

i1}
. https://t.me/+CbbW8n6Up6U50GES
T
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Which scientist discovered that the bacteria Streptococcus Al doaiadl Ljasll of adas S alladl e

pneumoniae change its form? Slgalu Jais
O Griffith :
——t
O Chase . b
h)dé-—l
O Avery S
O Watson v (s
Lyl

m https://t.me/+CbbW8n6Up6U50GES
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What do DNA and RNA have in common? ¢ RNA 3 DNA Ji 5 dadall quladl L

D Both contain ribose molecules Jeey Sl acas LIS
.O Both contain phosphale groups i gl e cilegana o Laatis
O Both contain uracil Jadlygall aag LaaZiS
O Bolh are double stranded aL sy P Lads

i1}
. https://t.me/+CbbW8n6Up6U50GES




